1.0	CONCRETING		QTY	UNIT	UNIT COST Australian Dollar	AMOUNT Australian Dollar
1.1	Footing and Column					
		Gravel		cu. m	\$47.25	\$236.25
		10mm deformed bar		length	\$5.25	\$110.25
		#16 GI tie wire	2	kilos	\$2.10	\$4.20
1.2	Slab on Ground					\$0.00
		Cement	40	bags	\$9.40	\$376.00
		Sand	3	cu. m	\$47.25	\$141.75
		10mm deformed bar	16	length	\$47.25	\$756.00
		GI tie wire	1	kilo	\$2.10	\$2.10
		Sub-total			\$197.00	\$1,626.55
2.0	MASONRY					
		4" CHB	171	pcs	\$0.63	\$107.73
		Cement	7	bags	\$8.40	\$58.80
		Sand	1	cu. m	\$47.25	\$47.25
		10mm deformed bar		length	\$5.25	\$31.50
		Sub-total			\$58.50	\$245.28
3.0	BAMBOO WORKS					
		Amakan	12	sheets	\$9.45	\$113.40
		Bamboo Strip (lipak)	10	rolls	\$2.10	\$21.00
		Assorted Nails	5	kilos	\$3.15	\$15.75
		Sub-total				\$150.15
4.0	WOOD WORKS					
		1/4 " THK Marine Plywood		sheets	\$12.60	\$50.40
		1" x 2" x 8' Coco Lumber (Framing)		length	\$1.05	\$18.90
		2" x 2" x 10' Coco Lumber (Framing)		length	\$3.15	\$132.30
		2" x 4" x 8 Mahogany (Hayhayan)	13	length	\$13.65	\$177.45

	6" x 6" x 8' Mahogany (Wood post)	3	length	\$58.80	\$176.40
	Assorted Nails and screws	1	lot	\$1.35	\$1.35
	Sub-total			\$112.00	\$556.80
5.0 ROOFING WORKS					
	2" x 3" x 8' Mahogany (Web member)	8	length	\$10.50	\$84.00
	2" x 4" x 10' Mahogany (Roof Beam)	12	length	\$16.80	\$201.60
	2" x 6" x 10' Mahogany (Bottom Chord)	8	length	\$25.50	\$204.00
	2" x 3" x 1.2mm THK C-purlin	24	length	\$12.60	\$302.40
	G.A.#22 G.I. Corrugated Sheet	76	lm	\$17.85	\$1,356.60
	12 x 8 PVC Gutter	15	pcs	\$15.75	\$236.25
	12" Connector PVC Gutter	15	pcs	\$2.10	\$31.50
	12" Outside Elbow Connector PVC Gutter	4	pcs	\$6.30	\$25.20
	Hardware Accessories	1	lot	\$122.85	\$122.85
	Sub-total			\$219.00	\$2,564.40
6.0 DOORS & ACCESSORIES					
	Service Door	2	pcs	\$31.50	\$63.00
	Door Hinges	6	pcs	\$8.40	\$50.40
	Door Knob	2	pcs	\$14.70	\$29.40
	Sub-total			\$52.00	\$142.80
7.0 TRANSPORT & LABOUR					
	Transport to Island			\$450.00	\$450.00
	Building/Labour Works			\$1,150.00	\$1,150.00
	Sub-total			\$1,334.00	\$1,600.00
8.0 Electrical requirements					
	Electrical Works			\$1,150.00	
	Sub-total			\$1,150.00	\$1,150.00
	TOTAL				\$8,035.98

